Problem 3: (Torque and Conservation of Angular Momentum) A bowling ball of
mass m and radius R is thrown down an alley with an initial velocity vy and no
imitial angular velocity. The moment of inertia of the ball about the center of mass is

I=2/5 mR?, The coefficient of friction between the ball and the alley is L.

a) What is the angular velocity of the ball when the ball just starts to roll without
slipping downi the alley? '

b) What is the kinetic energy of the ball when the ball just starts to roll without
slipping down the alley?

¢} What is the change in kinetic energy ?
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Problem 3: (Torque and Conservation of Angular Momentum) A bowling ball of
mass m and radius R is thrown down an alley with an initial velocity vg and no
initial angular velocity. The moment of inertia of the ball about the center of mass is

1=2/5 mR®. The coefficient of friction between the ball and the alley is .

a) What is the angular velocity of the ball when the ball just starts to roll without
slipping down the alley?

b) What is the kinetic energy of the ball when the ball just starts to roll without
slipping down the alley?

c) What is the change in kinetic energy ?
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